C-T doubtnut

India's Number 1 Education App

MATHS

BOOKS - VGS PUBLICATION-BRILLIANT

MATHEMATICS-II(B) MODEL PAPER 3

1. Find the equation of the circle passing through

(3,4) and having the centre at (-3,4)

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_IGWjW9F17XX3

2.1f the length of the tangent from (5, 4) to

the circle % + y? + 2ky = 0is 1the n find k.

° Watch Video Solution

3.If the the angle between the circles
e +y? — 122 —6y+41=0 and

22 + 4% + kz + 6y — 59 = 0is 45° find k.

° Watch Video Solution



https://dl.doubtnut.com/l/_iZaAVn0MA0OA
https://dl.doubtnut.com/l/_2l7pJ7SQtsdC

4.1f ((1)/(2),2) is one extermity of a focalchord of the
parabola y? = 8z. Find the co-ordinates of the

other extremity.

° Watch Video Solution

5. Find the equation of the hyperbola whose are

( + 5, 0) the transverse axis is of length 8.

o Watch Video Solution



https://dl.doubtnut.com/l/_0xxVHDX64crA
https://dl.doubtnut.com/l/_6izrubEGXoEx

6. Evaluate the integerals.

/ (3 2; Y ez € T € R0}

° Watch Video Solution

1
7. Evaluate : /Oiw dz .

° Watch Video Solution
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8. Evaluate lim

.+ (2n)F

n— 00 nk:—l—l

by

using the method of finding definite integral as the

l[imit of a sum.



https://dl.doubtnut.com/l/_yYdGW7ls3AVZ
https://dl.doubtnut.com/l/_bA2a3p9MRMEp
https://dl.doubtnut.com/l/_Rk9nsWuvxNvK

‘ o Watch Video Solution

9. Find the value of the integral
2
/ sin® x cos? zdx

0

o Watch Video Solution

d
10. Solve & _ e Y 1 g2e Y,
dx

° Watch Video Solution



https://dl.doubtnut.com/l/_Rk9nsWuvxNvK
https://dl.doubtnut.com/l/_Nmmb8qedQb0K
https://dl.doubtnut.com/l/_JzcXCZUibmWf

1. Find the equation of the circle with centre
( — 2, 3) cutting a chord length 2 units

ondx +4y+4=0

° Watch Video Solution

2. Find the equation of the circle which passes
through the origin and intersects each of the
following circles orthogonally.

22+ 4y — 4z +6y+10, 22+ > + 12y + 6 = 0

° Watch Video Solution



https://dl.doubtnut.com/l/_2qFjGQe6XvfU
https://dl.doubtnut.com/l/_TIP2q5CaTIke
https://dl.doubtnut.com/l/_eYAbpI3JQV8L

3. Find the length of major axis,minor axis, latus
rectum, eccentricity co-ordinates of centre, foci and
the equations of directrices of the following ellipse.

da* +9y* —8x+2y+1=0

° Watch Video Solution

4. A circle of radius 4, is concentric with the ellipse
3z% + 13y® = 78. Prove that a common tangent is

s
inclined to the major axis at an angle 1

o Watch Video Solution



https://dl.doubtnut.com/l/_eYAbpI3JQV8L
https://dl.doubtnut.com/l/_5bSYRUMoMWw8
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5. Tangents to the hyperbola — —

2
Y
a2 2

— 1 make
angle 61, 0> with transvrse axis of a hyperbola.
Show that the points of intersection of these

tangents lies on the curve 2zy = k(a:2 — a2) when

tanf; + tanfy = k

o Watch Video Solution

6. Evaluate: [ log(l + tanz)dx

o\ux]:}

o Watch Video Solution



https://dl.doubtnut.com/l/_59DEQjvbkrQq
https://dl.doubtnut.com/l/_Xd7qJw6mLdEA

1 dy i
7.50lve — —Z 4 q. €% = ell-2)e
T dx Y

° Watch Video Solution

1. Find the equation of the circle passing through (2,

1), (5, 5), (-6, 7).

o Watch Video Solution



https://dl.doubtnut.com/l/_QneCUVFCcFaz
https://dl.doubtnut.com/l/_sm71UAECgusX

2. Show that
22 +y? —6x —9y+13=0,22 + y® — 2z — 16y = O
touch each other . Find the point of contact and the
equation of common tangent at their point of

contact.

° Watch Video Solution

3. Find the equation of the parabola whose axis is
parallel to X-axis and which passes through these
points.

(-2,0),(1,2), and (-1,3)

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_63JAfpCv394n
https://dl.doubtnut.com/l/_kcTBOa0wBZrW

4./(6:1: +5)4/6 — 222 + zda

o Watch Video Solution

5.Show that

If I,, = /cos” xdx, then show that

]. n_l . n_ ].
I, = —cos rsinr +
n

I, s

° Watch Video Solution

6./ ad dr =
o 1+ cos?z



https://dl.doubtnut.com/l/_kcTBOa0wBZrW
https://dl.doubtnut.com/l/_mRqIMS9wDwuP
https://dl.doubtnut.com/l/_jDADkweIlD6x
https://dl.doubtnut.com/l/_mH3WYAEk0OLA

‘ o Watch Video Solution

7.Solve (:133 — 3a:y2)dm + (3932y — y3)dy =0

o Watch Video Solution



https://dl.doubtnut.com/l/_mH3WYAEk0OLA
https://dl.doubtnut.com/l/_27olj2VtVRxK

